The Board of Education of the Wilkes-Barre Area School District held a Regular Board Meeting on Wednesday, May 9, 2012. **President, Maryanne W. Toole** called the meeting to order at 6:00 PM.

Superintendent Dr. Jeffrey T. Namey led the Pledge of Allegiance to the Flag.

Board Secretary Leonard B. Przywara called the roll.

7 MEMBERS PRESENT: Corcoran, Elmy, Evans, Galella, Katsock, Quinn, Toole

1 MEMBER ABSENT: Susek 1 MEMBER EXCUSED: Latinski

Board Secretary, Leonard Przywara indicated that President Toole was designated to vote for Dr. Susek via his Proxy and Mr. Galella was designated to vote for Mr. Latinski via his Proxy.

#### President Toole stated:

- The Chair wishes to announce that the Board held an Executive Session prior to and following the Committee Meeting of May 7, 2012.
- THE SUBJECTS DISCUSSED IN EXECUTIVE SESSION RELATED SOLELY TO MATTERS OF EMPLOYEE RELATIONS, LABOR NEGOTIATIONS, AND/OR THREATENED OR ACTUAL LITIGATION.

**Ms. Evans moved, seconded by Miss Katsock,** to approve the minutes of the Regular Board Meeting of April 11, 2012 and the Special Board Meeting of April 19, 2012 and dispense with the reading of those minutes. The vote was as follows:

All In Favor: 9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

#### **Treasurer's Report**

Mr. William Keating, FNCB, presented the Treasurer's Report for the month ending March 31, 2012.

**Ms. Evans moved, seconded by Mr. Elmy,** to accept the Treasurer's report for the month ending March 31, 2012. The vote was as follows:

9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

### There were: no bids to be opened

### **Unfinished Business**

**Ms. Evans moved, seconded by Miss Katsock**, to have the property lines between the District property on Empire Street and the property owned by Mr. Kocher on Casey Avenue, Wilkes-Barre PA surveyed to see if there are encroachment issues on our property.

**Ms. Evans amended the motion, seconded by Miss Katsock**, to have an RFP issued to have only the District property line on Empire Street surveyed to see if there are encroachment issues on our property on Empire Street and property owned by Mr. Kocher on Casey Avenue, Wilkes-Barre PA. The vote was as follows:

9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

**Ms. Evans moved, seconded by Miss Katsock,** to have a list of all District Properties available by the June Board Meeting, so the Board can determine what unused properties can be put up for sale. The vote was as follows:

9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

**Ms. Evans moved, seconded by Miss Katsock,** that the following individuals, who have expressed an interest to promote the enhancement of education in the Wilkes-Barre Area School District be appointed to serve as members of the Wilkes-Barre Area Educational Improvement Organization, Inc.

Shawn Walker Joseph C. Borland

**Ms. Evans moved, seconded by Miss Katsock**, to add James Post, who has expressed an interest to promote the enhancement of education in the Wilkes-Barre Area School District be appointed to serve as a member of the Wilkes-Barre Area Educational Improvement Organization, Inc.

The vote was as follows:

9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

## **Communications from Citizens**

John Ralston, The American Legion, Joseph E. Conlon Post 558
 Mr. Ralston attended the Board Meeting of May 9, 2012 to accept the pictures of Lieutenants. John V. Curry and Michael Duddy on behalf of The American Legion, Joseph E. Conlon Post 558. Mr. Ralston expressed the sincere appreciation of Post 558 to the Board of Directors of Wilkes-Barre Area School District for allowing the loan of the pictures of Lieutenants John V. Curry and Michael Duddy to "The American Legion, Joseph E. Conlon Post 558".

At this time Dr. Corcoran presented the following:

students; AND BE IT FURTHER

### Dr. Corcoran presented Resolution #1

### RESOLUTION IN MEMORIAM 9 May 2012

	9 May 2012
WHEREAS,	Lieutenants. John V. Curry and Michael Duddy carefully and diligently discharged the duties of the office to which they were appointed by doing and performing all manners of things thereunto belonging; AND
WHEREAS,	Lieutenants John V. Curry and Michael Duddy executed their final orders during World War I, giving their last full measure of devotion to their fellow citizens; AND
WHEREAS,	Lt. John V. Curry was killed in action Cantigny, France, May 28, 1918 passing down the Valley of the Shadow of Death – honest and fearless, longing to live but not afraid to die; AND
WHEREAS,	Lt. John V. Curry was the son of Sarah Curry, an educator in Plains Township; AND
WHEREAS,	Lt. Michael Duddy was killed in action Fismes, France, August 12, 1918 with greater love than no man hath to give, than to give his life that his friend might live; AND
WHEREAS,	Lt. Michael Duddy was an educator in Plains Township; AND
WHEREAS,	Portraits of these soldiers were displayed in Plains Township schools; THEREFORE BE IT
RESOLVED,	on behalf of the Wilkes-Barre Area School District, the Board of Directors offer these portraits as a token of appreciation for the honorable and faithful service these men rendered to this nation and our

RESOLVED, that the Wilkes-Barre Area School District, its Board of Directors, its teachers and staff, and its parents and students are forever grateful for their selfless service and their loved ones' supreme sacrifice; AND BE IT FURTHER

RESOLVED, that the Board of Directors instructed the Secretary to charge the Plains American Legion, Post 558, to display these portraits on loan in memoriam so that all will know.

Wilkes-Barre, Pa May 9, 2012

**Dr. Corcoran moved, seconded by Ms. Evans**, to adopt the resolution. The vote was as follows: **9 Ayes:** Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

2. Jack Nolan, 42 Lawrence Street, Wilkes-Barre, PA

Mr. Nolan, Varsity Head Soccer Coach at Meyers High School, addressed the board in regard to the poor conditions of some of the soccer fields the teams (Varsity/ Jr. High) are using. Mr. Nolan asked if it would be possible to schedule games at Wilkes-Barre Memorial Stadium more frequently. Mr. Nolan did note that the field would need to be lined for soccer and that they would be permanent lines.

President Toole requested that Ms. Evans Chairperson of the Athletic Committee along with the other members of the Athletic Committee, determine if it would be possible to schedule additional soccer games at Wilkes-Barre Memorial Stadium and also determine the cost of lining the field for soccer. President Toole requested that when that information is available, the Athletic Committee provide a report to the Board as to their recommendations.

- 3. Tracey Hughes, 73 Spruce Street, Wilkes-Barre, PA Ms. Hughes addressed the Board on the following items.
  - a. Hiring Policy
     Ms. Hughes asked if any progress been made on establishing and implementing a Hiring Policy
  - Recycling in schools
     Ms. Hughes informed the Board that she felt Wilkes-Barre Area School District was not recycling plastic and cardboard, especially at Meyers High School.
  - Forensic Audit in regard to the former Solicitor of Wilkes-Barre Area School District, Anthony J. Lupas.
     Ms. Hughes inquired as to the status of a Forensic Audit in regard to bills submitted to the District by Anthony J. Lupas.
  - d. SFA Reading Program Ms. Hughes expressed to the Board and Dr. Namey her belief that the SFA Reading Program was not beneficial to the students of the Wilkes-Barre Area School District and that the majority of teachers were unhappy with the program.

Dr. Corcoran responded to Ms. Hughes regarding the Hiring Policy. Dr.. Corcoran informed Ms. Hughes that an Ad Hoc Hiring Policy Committee was established by President Toole. Dr. Corcoran stated that he is the Chair of the Ad Hoc Hiring Policy Committee and the Committee has been meeting twice a month and presenting updated reports on progress to the Board. Dr. Corcoran further stated he hoped to present a completed Hiring Policy recommendation to the Board in the near future for the Boards consideration and approval.

President Toole asked Mr. Serafini to check on the procedures regarding recycling within the District and to ensure that the Custodial staff is following the proper procedures.

President Toole responded to Ms. Hughes in regard to the Forensic Audit. Mrs. Toole stated that the Forensic Audit will be addressed at this evening's Board Meeting (May 9, 2012).

Dr. Namey responded to Ms. Hughes in regard to her questions and concerns regarding SFA.

President Toole informed Ms. Hughes that the Board is going to meet with randomly selected teachers and ask them to speak candidly regarding the SFA Reading Program.

Rita Tarnalicki 20 Seymore Street, Wilkes-Barre Township, PA
 Ms. Tarnalicki addressed the Board in regard to Homestead Exclusions.

Board Secretary/Business Manager, Leonard Przywara addressed Ms. Tarnalicki concerns/questions regarding the Homestead Act.

Bob Kadluboski, Wilkes-Barre, PA
 Mr. Kadulbuski addressed the Board in regard to the monies paid for District legal fees. Mr. Kadluboski also addressed the amount of Dr. Namey's pension.

Dr. Namey presented the following statement to the Board and all present at the Regular Board Meeting of May 9, 2012.

I had always hoped that when I ended my career, there would be peace and tranquility in my work environment.

Dr. Namey addressed all of Mr. Kadluboski's inquiries.

### **Communication from Superintendent**

Unfortunately, I have come to realize that there will never be a tranquil time in this setting. It is with great sadness that I announce that I am retiring as Superintendent of the Wilkes-Barre Area School District effective August 31, 2012.

I have been honored and blessed to have been given the opportunity to serve the students of this wonderful school District for 42 years. I have had the opportunity to work with many caring and dedicated board members, administrators, teachers, secretaries, custodians and other members of our school district family.

I have come to realize how quickly the years are passing and in light of recent health concerns, now is the time for me to turn my attention to my children, grandchildren and all family members, who have supported and encouraged me and have sacrificed the most these past years. I will never forget the support given me by our board of education and all those who stood by my side these many years. It was this support and mutual respect that enabled our district to provide outstanding educational services and programs to our students. To our parents, please know I never forgot our district's commitment and obligation to your sons and daughters, your most precious possessions. Thank you for your support and encouragement. The Wilkes-Barre Area School District, its staff and students have been a major part of

### **Ad Hoc Hiring Policy Committee**

my life and I will miss them terribly. Thank you.

Dr. Corcoran did not have a report from the Ad Hoc Hiring Policy Committee.

### **Ad Hoc Facilities Committee**

Dr. Corcoran reported in the absence of Dr. Susek that an Ad Hoc Facilities Committee Meeting would be scheduled in the near future.

### **LUZERNE INTERMEDIATE UNIT**

Miss Katsock informed the Board that she has made available an Access Review Sheet for the 2011-2012 school year for the Board to review. Miss Katsock stated that the Access sheet shows the District's projected balance thru March, noting that April, May and June is not completed as yet. Miss Katsock further stated that she wished to make the Board aware of the fact that LIU #18 is the only IU in the state that returns 95 % of the Access money that it collects. Miss Katsock noted that LIU # 18 does the work and takes very little money for the work they do.

### **WILKES-BARRE AREA CAREER AND TECHNICAL CENTER**

Dr. Corcoran reported in the absence of Mr. Latinski that the minutes of the previous month's meeting of the Wilkes-Barre Area Career and Technical Center have been provided to the Board of Directors of Wilkes-Barre Area School District.

### **CURRICULUM COMMITTEE REPORT**

Mr. Galella presented the following report and recommendations for the Board's approval:

- 1. That approval be granted to hold Secondary Summer School at Coughlin High School beginning July 19, through August 16, 2012 from 8:10 AM to 1:30 PM.
- 2. That approval be granted to hold an ESL Elementary Summer Tutoring Program at Dodson, Heights and possibly Kistler Elementary Schools beginning June 18, through July 13, 2012 from 8:30 AM to 11:00 AM.
- 3. That approval be given for the Anaphylactic Reaction/Epipen Policy (Exhibit "A") as recommended by Dr. George Moses. TABLED
- 4. That approval be given for the revision (Exhibit "B") in the Wilkes-Barre Area Medical Department's Standing Orders as recommended by Dr. George Moses.
- 5. That ratification be given to the Memorandum of Agreement, entered into by and between the Luzerne Intermediate Unit (LIU) and this School District, which enables the LIU to meet the requirements of the PA Department of Public Welfare (DPW) for a 20% match for the ELECT/Project MOM and Young Fatherhood Initiative grant funded by DPW. This agreement requires a payment by this District in the amount of \$5,882.00 for the period July 1, 2010 thru June 30, 2011, and \$7,909.00 for the period July 1, 2011 thru June 30, 2012.
- 6. That approval be given to forward a contribution, in the amount of \$1,000.00 to the Luzerne Intermediate These funds shall be used to sponsor two (2) scholarships for District students to the Performing Arts Institute Summer Program.

Mr. Galella moved, seconded Ms. Evans, to adopt the report. The vote was as follows:
9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

### **BUDGET FINANCE COMMITTEE REPORT**

### Dr. Corcoran presented the following report and recommendations for the Board's approval:

### A. ADMINISTRATIVE

1. That approval be given to the below listed payments:

Contractor		Project	Fund	Cert/Applic. Invoice #	Payment Due
Apollo Group	Inc.	E.L. Meyers Water Line Repairs	Capital Projects	11	\$1,083.68

- 2. That ratification be given to the Memorandum of Understanding (MOU), between the Commission on Economic Opportunity and the Wilkes-Barre Area School District which identifies the roles and responsibilities of each party as they relate to the classroom-based nutrition education (Be Smart, Eat Right Program). A copy of the Memorandum (Exhibit "A") is on file in the Office of the Board Secretary and incorporated into this resolution with full force and effect as if same had been pronounced in its entirety.
- 3. That approval be given to renew membership with the Pennsylvania School Boards Association, Inc., P.O. Box 2042, Mechanicsburg, PA for the 2012-2013 school year at a cost of \$12,300.00. This amount represents a zero % increase from the 2011-2012 school year.
- 4. The District is in receipt of the approval, by the Bureau of Budget and Fiscal Management of PLANCON PART K: PROJECT REFINANCING in respect to the issuance of General Obligation Bonds, Series of 2009 to Refund General Obligation Bonds, Series of 2003. A copy of this document (Exhibit "B") is on file in the Office of the Board Secretary and incorporated into this resolution with full force and effect as if same had been pronounced in its entirety.

### B. FEDERAL

That, in accordance with the authority of the Board, the following Federal Project wire transfers #119 and Chapter I wire transfers #979-988 and checks #558-559 which were drawn for payment since the last regular meeting of the Board of Education held on April 11, 2012 be approved.

- C. That payment be approved for the following General Fund wire transfers #1698-1718 and checks #27630-27960 and Food Service checks #1946-1957 which were drawn for payment since the last regular meeting of the Board of Education held on April 11, 2012.
- **D.** That the checks listed on the following pages # 27961-28048 which have been inspected be approved and that orders be drawn for the respective amounts set down opposite the names of persons or firms.

Dr. Corcoran moved, seconded by Ms. Evans, to adopt the report. The vote was as follows:

9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

1 Nay: Katsock – C and D

There was no **ATHLETIC COMMITTEE REPORT** 

There was no TRANSPORTATION/SAFETY COMMITTEE REPORT

### **CONTRACTED SERVICES COMMITTEE REPORT**

### Mr. Elmy presented the following report and recommendations for the Board's approval:

- 1. That approval be given to accept the 2012-2013 Budget Proposal as presented by the Nutrition Group, 202 South Third Street, West Newton, PA and extend their contract for Food Service Management Services for the 2012-2013 school year. This proposal, which reflects no increase in meal prices from the prior year results in a School Nutrition Program Profit for the District in the amount of \$109,677.48. A copy of the Budget Proposal (Exhibit "A") is attached hereto and incorporated into this Resolution with full force and effect as if same had been pronounced in its entirety herein.
- 2. That approval be given to develop a "Request for Proposal" (RFP) for the provision of additional Student Transportation Services beginning with the 2012-2013 school year, and to advertise for same.

#### **ADDENDUM**

- That approval be given to accept the proposal, submitted by Mark J. Sobeck Roof Consulting, Inc., 15 South Franklin Street, Suite 210, Wilkes-Barre, PA in respect to the Meyers High School Boiler House Roof Investigation, Design and Inspection at a cost of \$3,675.00. This approval is based upon the recommendation of the Apollo Group, Inc., the District's Construction Manager.
- 2. That approval be given to accept the proposal, submitted by TCI Environmental Services, Inc., 100 North Wilkes-Barre Blvd., Wilkes-Barre, PA for inspection services for asbestos containing materials at Meyers High School, in respect to the water line replacement project in accordance with the terms of the proposal. This approval is based upon the recommendation of the Apollo Group, Inc., the District's Construction Manager. FAILED
- 3. That approval be given to accept the proposal, submitted by TCI Environmental Services, Inc., 100 North Wilkes-Barre Blvd., Wilkes-Barre, PA for inspection services for asbestos containing materials in respect to the Meyers High School Boiler House Roof project at a budget estimate in the amount of \$9,990.00. This approval is based upon the recommendation of the Apollo Group, Inc., the District's Construction Manager.
- 4. That approval be given to award the contract to provide a forensic audit of the billing records for legal services provided to the District, for fiscal years beginning July 1, 2006 to current to StoneBridge Business Partners, 280 Kenneth Drive, Suite 100, Rochester, NY at the all-inclusive price of \$13,245.00.

Mr. Elmy moved, seconded by Ms. Evans, to adopt the report. The vote was as follows:

8 Ayes: Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

1 Nay: Corcoran (entire Report)

6 Navs: Evans, Galella, Latinski (Proxy), Quinn, Susek (Proxy), Toole (Addendum – Item -#2)

1 Nay: Katsock, (Addendum – Items - #1, #2 and #3)

Item #2 on the Addendum did not pass. Remainder of the Contracted Services Committee Report passed.

### **BUILDING & GROUNDS COMMITTEE REPORT**

### Dr. Corcoran presented the following report and recommendations for the Board's approval:

1. Requests for USE OF SCHOOL FACILITIES:

### **HEIGHTS MURRAY ELEMENTARY**

a. Girl Scouts in the Heart of Pa request permission to use the art room at Heights Murray Elementary on Wednesday's beginning September 12, 2012 and ending May 22, 2013.

# COUGHLIN, DODSON G.A.R., MEYERS & SOLOMON/PLAINS JR. HIGH

a. Reverend Michael Brewster and Reverend Shawn Walker, in conjunction with the City of Wilkes-Barre are requesting permission to use the libraries at Coughlin, Dodson. G.A.R., Meyers and Solomon/Plains Jr. to hold neighborhood meetings in preparation for a city wide Town Hall Meeting to be held with the support of Wilkes-Barre City Administration.

Meyers High School Library – May 22, 2012 – 7:00 PM G.A.R. High School Library – May 24, 2012 – 7:00 PM Dodson Elementary School Library – May 31, 2012 – 7:00 PM Coughlin High School Library – June 7, 2012 – 7:00 PM Solomon/Plains Jr. High Library – June 14, 2012 – 7:00 PM

2. Requests for USE OF GYMS, STADIUMS & FIELDS:

### **COUGHLIN HIGH SCHOOL**

a. Blue Cross of NEPA requests permission to use the field at the corner of Union and Washington Streets on July 13, 2012 from 11:00 AM to 2:00 PM for their Annual Employee Luncheon. Proof of insurance has been provided to the District.

### **E.L. MEYERS HIGH SCHOOL**

a. Ronald Swingle, Meyers High School Wrestling Head Coach, requests permission to hold the "Annual Mohawk Jr. High Wrestling Tournament" on January 26, 2013 from 9:00 AM to 9:00 PM. In the event of inclement weather the tournament will be held on January 27, 2013.

# **G.A.R. HIGH SCHOOL**

a. Colleen Robatin, Principal of G.A.R. High School, on behalf of the administration and staff, requests permission to hold a basketball game in honor of Tyler Winstead on June 1, 2012 at 6:00 PM. G.A.R., Heights and Dodson Faculty Members will participate in the basketball game and all proceeds will be donated to Tyler's Winstead's Family.

### **KISTLER ELEMENTARY**

a. Firwood United Methodist Church requests permission to utilize the parking lot at Kistler Elementary School to accommodate parking for their "Annual Church Festival" to be held on June 14, 15, and 16, 2012. Proof of insurance has been provided to the District.

**Dr. Corcoran moved, seconded by Miss Katsock**, to adopt the report. The vote was as follows: **All In Favor: 9 Ayes:** Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

### **LEGISLATIVE /FEDERAL REPORT**

### Mr. Quinn presented the following report and recommendations for the Board's approval:

1. That Dr. Jeffrey T. Namey, Superintendent be authorized, and that Leonard B. Przywara be designated to prepare and file a 2012-2013 application for an Entitlement under Title I, Improving Basic Programs, and to adopt the terms of the contract with the Commonwealth of Pennsylvania.

Mr. Quinn moved, seconded by Dr. Corcoran, to adopt the report. The vote was as follows: 9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

# MATERIAL SUPPLIES COMMITTEE REPORT

### Miss Evans presented the following report and recommendations for the Board's approval:

1. That the Purchasing Agent be authorized to prepare specifications and advertise the following supplies, equipment and services, or where feasible purchase through participation in a joint purchasing consortium for the 2012-2013 school year.

General School Supplies Physical Ed. Supplies

Art Supplies Athletic Supplies & Equipment

Primary School Supplies School Furniture

Custodial Supplies

Elementary Library Magazines

Cafeteria Supplies

Gym Floor Refinishing

Athletic Medical Supplies

Athletic Medical Supplies

Athletic Medical Supplies

Industrial Arts Supplies

Home Economic Supplies

Entry Mat Rental Service

Science Supplies

Various Vehicles

Spring Water Service

HVAC Service and Repair

Video Surveillance Maintenance

Boiler Water Treatment Service

Portable Toilet Rental Service

2. That having inspected the bids opened on March 23, 2012 that the award for <u>Fall Sports Equipment and Supplies</u> be made to the following bidders as listed below:

				<u>LOW</u>	<u>TOTAL</u>	<u>AWARD</u>
1	30	EA	COUGHLIN FOOTBALL GIRDLES, INTEGRATED FIVE POCKET WHITE W/PADS RAIGR1	\$17.76	\$532.80	BSN
2	100	EA	MOUTHPIECES, GEL-MAX RED #6141A, NO SUB	\$6.40	\$640.00	C.ROBBINS
_		_, ,	,	ψοσ	ψο .σ.σσ	00220
3	3	EA	SPORT TIMERS #340 "NO SUB"	\$7.95	\$23.85	C.ROBBINS
4	12	BG	REPLACEMENT CLEATS, FOOTBALL 1/2" UPD, 100/BG	\$8.15	\$97.80	C.ROBBINS
5	12	EA	ACME PLASTIC WHISTLES #560	\$0.35	\$4.20	CANNON
6	12	EA	ACME LANYARDS #595, BLUE	\$0.24	\$2.88	BSN
7	2	EA	ROGERS DRIVE SLED, 410422, NO SUB	\$590.00	\$1,180.00	RIDDELL
8	2	EA	ROGERS DRIVE SLED HARNESS,410588, NO SUB	\$39.00	\$78.00	RIDDELL

9	2	EA	FISHER SLOT BLOCK CHUTE DRILL DUMMY, SB4822, NO SUB	\$211.50	\$423.00	C.ROBBINS
10	24	PR	FOOTBALL PRACTICE PANTS, WHITE, 100% NYLON WEB	\$14.29	\$342.96	RIDDELL
11	1	EA	KICKING TEE- EXTRA POINT, 1" PT1	\$2.81	\$2.81	C.ROBBINS
12	1	EA	KICKING KADDY KICKING TEE, KKC2	\$14.34	\$14.34	C.ROBBINS
13	1	EA	GAUNTLET 2 MAN SLED WITH BOD PADS BY GILMAN	\$149.73	\$149.73	C.ROBBINS
14	1	EA	WATERPROOF FOOTBALL, WTF1552XDEF, "NO SUB"	\$12.96	\$12.96	C.ROBBINS
15	1	EA	CLEAT CLEANER, 23" X 24", LCC "NO SUB"	\$28.95	\$28.95	C.ROBBINS
16	12	EA	MESH SCRIMMAGE VEST, BLACK, SV5	\$1.89	\$22.68	PYRAMID
17	12	EA	PRO LITE KNEE PADS, LARGE, BAIK30, "NO SUB"	\$3.23	\$38.76	C.ROBBINS
18	24	EA	BELTS, 510, NAVY	\$0.62	\$14.88	C.ROBBINS
19	24	EA	BELTS, 510, WHITE	\$0.62	\$14.88	C.ROBBINS
20	18	EA	PRACTICE JERSEYS, WHITE, BRIGHT NYLON TRICOT	\$16.90	\$304.20	C.ROBBINS
21	18	EA	PRACTICE JERSEYS, RED, BRIGHT NYLON TRICOT MESH,	\$16.90	\$304.20	C.ROBBINS
22	2	EA	KICKING TEE,SIDEWINDER, RIGHT FOOT, 2"	\$1.54	\$3.08	BSN
23	1	SE T	KICKING TEE- EXTRA POINT 2" KT3	\$1.58	\$1.58	BSN
24	3	EA	WRIST COACH, APH3, NAVY, NO SUB	\$7.61	\$22.83	C.ROBBINS
25	12	EA	WRIST COACH, APH3, WHITE, NO SUB	\$7.61	\$91.32	C.ROBBINS
26	24	EA	1003 GST GAME FOOTBALL, <b>NO SUB</b> , F1003B	\$59.92	\$1,438.08	BSN
27	72	EA	GAME JERSEY,SM CLOTH 90% NYLON STRETCH MESH/10% SPANDEX	\$70.95	\$5,108.40	C.ROBBINS
28	72	EA	FLY FRONT GAME PANT NAVY	\$59.00	\$4,248.00	C.ROBBINS
					\$15,147.17	
			G.A.R. FOOTBALL			
29	50	EA	XC CLOTH CAP SLEEVE GAME JERSEY	\$89.87	\$4,493.50	C.ROBBINS
30	42	EA	PRACTICE PANT,RIDDELL RIPON4507,NO SUB	\$13.55	\$569.10	C.ROBBINS
31	30	BG	1/2" REPLACEMENT SPIKES FOR FOOTBALL SHOES,	\$8.15	\$244.50	C.ROBBINS
32	72	EA	MOUTHPIECE, GEL-MAX, <b>NO SUB</b> , BLUE, 180	\$6.40	\$460.80	C.ROBBINS
33	12	EA	ADAMS ADULT BLOCKING VEST, <b>NO SUB</b> , 1525	\$13.72	\$164.64	C.ROBBINS

34	1	DZ	ASI TOWELS, DOZEN, 22" X 44", WHITE, LRT44	\$19.20	\$19.20	CANNON
35	24	EA	1003 GST GAME FOOTBALL, <b>NO SUB</b> , F1003B	\$59.92	\$1,438.08	BSN
36	45	EA	RUSSELL GIRDLE, SEWN-IN PADS, NO SUB, GRAY	\$19.07	\$858.15	C.ROBBINS
37	40	EA	ADAMS 1" POLY WEB 60" BELTS, <b>NO SUB</b> , WHITE, 510	\$0.62	\$24.80	C.ROBBINS
38	12	EA	ADULT WRIST COACH 2.5" X 4", <b>NO SUB</b> , NAVY, WC8	\$4.14	\$49.68	C.ROBBINS
39	6	EA	HANDWARMER, <b>NO SUB</b> , BLACK, NHW-1	\$17.34	\$104.04	C.ROBBINS
40	12	EA	FOX 40 CLASSIC WHISTLE WITH MOUTH GUARD, NO SUB	\$3.56	\$42.72	BSN
41	12	EA	NYLON LANYARD, NO SUB, ROYAL, T21.NK	\$0.24	\$2.88	BSN
42	40	EA	1" WEB BELTS, NO SUB, SILVER, 15FB.1	\$0.80	\$32.00	C.ROBBINS
43	48	PR	UNDER ARMOUR HEATGEAR ALLSPORT SOCKS, NO SUB	\$5.05	\$242.40	G.S.DESIG N
44	6	EA	RUSSELL ADULT SOLID MESH PRACTICE JERSEY, WHITE	\$22.50	\$135.00	C.ROBBINS
45	18	EA	RUSSELL ATHLETIC ADULT DELUXE GAME PANTS, GRID	\$36.75	\$661.50	C.ROBBINS
46	4	EA	POWER STEPPER, 30301-IN, NO SUB	\$21.41	\$85.64	C.ROBBINS
47	1	EA	SPEED HARNESS, 10233 HV-ST, NO SUB	\$87.08	\$87.08	C.ROBBINS
48	6	EA	SPEED HURDLES, 30101-61	\$6.15	\$36.90	C.ROBBINS
49	6	EA	SPEED HURDLES, 30101-A1	\$7.12	\$42.72	C.ROBBINS
50	1	EA	HELMET ACC KIT, RIDDELL REVOLUTION SPEED, R27592, NO SUB	\$174.99	\$174.99	RIDDELL
51	10	EA	HELMET NUMBERS, STHLETIC BLOCK 1.5", SHEET 0-9, NAVY	\$2.40	\$24.00	C.ROBBINS
52	1	EA	WILSON PRO KICK WTF9913	\$15.00	\$15.00	C.ROBBINS
53	2	EA	V-ARM FOR RAE CROWTHER HEAVY BAG, POPV, NO SUB	\$123.00	\$246.00	C.ROBBINS
					\$10,255.32	
			MEYERS FOOTBALL			
54	3	EA	RIDDELL TRIPLE PLAY CARD HOLDER - NAVY	\$5.85	\$17.55	C.ROBBINS
55	1	EA	RIDDELL MOX BOX HELMET HARDWARE KIT	\$174.99	\$174.99	RIDDELL
56	24	PR	SHOE LACES,ADAMS BLACK, BL45"	\$1.11	\$26.64	C.ROBBINS
57	2	EA	Riddell Equipment Bag Product #RML3936 NO SUB	\$39.99	\$79.98	RIDDELL
58	4	EA	Rodgers Scout Pop up dummies item number 410277	\$385.50	\$1,542.00	C.ROBBINS

59	24	PR	RIDDEL BIOLITE VENT AIR 7-PIECE PAD SET - SLOTTED	\$4.55	\$109.20	C.ROBBINS
60	12	EA	PRACTICE PANTS, ADAMS STOCK FP-880, WHITE, 8M, 4L	\$9.66	\$115.92	C.ROBBINS
61	24	EA	GIRDLE SHELLS, LONG 5-POCKET, 9S, 9M, 6L	\$8.64	\$207.36	BSN
62	1	EA	Rodgers 10' X 20' Mobility Chute Item number 410537	\$1,971.28	\$1,971.28	RIDDELL
63	75	EA	Helmet Decals - Sports Decals 2 color Arrow Item #A506 Navy/White	\$3.36	\$252.00	RIDDELL
64	1	EA	DONNIS CLEAT BOARD RODGERS ITEM #410664	\$21.96	\$21.96	BSN
65	48	EA	UNDER ARMOUR FOOTBALL GAME PANT WHITE - G.S. DESIGNS	\$38.61	\$1,853.28	G.S.DESIG N
66	48	EA	UNDER ARMOUR NITRO GAME JERSEY NAVY/WHITE/VEGAS GOLD	\$60.50	\$2,904.00	G.S.DESIG N
67	80	EA	MOUTH GUARDS, GEL-MAX, NAVY, NO SUB	\$4.94	\$395.20	C.ROBBINS
68	5	EA	ADULT WRIST COACH 2.5" X 4", ADAMS <b>NO SUB</b> , NAVY WC68	\$7.68	\$38.40	C.ROBBINS
69	24	EA	1003 GST GAME FOOTBALL, <b>NO SUB</b> , F1003B	\$59.92	\$1,438.08	BSN
					\$11,147.84	
			COUGHLIN GIRLS VOLLEYBALL			
70	12	EA	PRACTICE BALLS, TACHUKARA SV5WC, RED/WHT/BLUE	\$23.35	\$280.20	CANNON
71	4	EA	GAME BALLS, TACHUKARA BADEN PERFECTION, VX5E	\$35.90	\$143.60	CANNON
72	12	PR	KNEEPADS, ASICS TIGER-VB, WHITE	\$9.48	\$113.76	C.ROBBINS
73	2	EA	OFFICIAL SCOREBOOK	\$3.16	\$6.32	BSN
					\$543.88	
			G.A.R. GIRLS VOLLEYBALL			
74	20	EA	VOLLEYBALLS, BADEN PERFECTION VX5E	\$40.42	\$808.40	C.ROBBINS
75	2	EA	PASS RITE, TSPASSRITE	\$18.46	\$36.92	BSN
76	10	EA	VOLLEYBALLS, TACHIKARA SV5WC, NAVY/WHT/GRAY	\$23.35	\$233.50	CANNON
77	2	EA	SCOREBOOKS NFHS	\$3.16	\$6.32	BSN
78	18	PR	KNEE HIGH SOCKS, OLD SCHOOL ZK613, NAVY/WHT, SMALL	\$6.53	\$117.54	C.ROBBINS
79	18	PR	KNEE HIGH SOCKS, OLD SCHOOL ZK614, NAVY/WHT, MEDIUM	\$6.53	\$117.54	C.ROBBINS
80	4	EA	JERSEYS,ASICS ACE,SLEEVLESS 5001 NAVY/WHT, BT930	\$52.50	\$210.00	C.ROBBINS
81	4	EA	VOLLEYBALL SHORTS,BASELINE #50 NAVY, BT500	\$15.81	\$63.24	C.ROBBINS
82	20	PR	KNEE PADS, ASICS LOW PROFILE, ZD0925, WHITE	\$13.34	\$266.80	C.ROBBINS

83	3	EA	COACHES SHIRTS, WARRIOR JERSEY, KLM202, NAVY/WHT	\$33.79	\$101.37	C.ROBBINS
84	2	EA	PLASTIC WHISTLE W/LANYARD,#601	\$0.59	\$1.18	PYRAMID
					\$1,962.81	
85	12	EA	MEYERS GIRLS VOLLEYBALL VOLLEYBALLS, BADEN PERFECTION VX5E	\$40.42	\$485.04	C.ROBBINS
86	40	PR	VOLLEYBALL KNEE PADS, ASICS RALLY,BLK, 7" SLEEVE, ZD0920	\$9.24	\$369.60	C.ROBBINS
87	1	EA	BALL CART, HAMOCK PSCART1, ROYAL, NO SUB	\$80.38	\$80.38	C.ROBBINS
88	1	EA	BALL PUMP, PORTA PUMP,ELECTRIC	\$41.28	\$41.28	C.ROBBINS
89	2	EA	PASS RITE, ELASTIC TRAINING BANDS, PAS1	\$18.46	\$36.92	BSN
90	1	EA	PASS IT, TRAINING BAR FOR PASSING SKILLS, E6522	\$87.24	\$87.24	C.ROBBINS
91	2	EA	SCOREBOOK, VOLLEYBALL	\$3.16	\$6.32	BSN
92	40	PR	KNEE HIGH SOCKS, ROYAL BLUE, MED, VOLLEYBALL	\$1.71	\$68.40	C.ROBBINS
					\$1,175.18	
			COUGHLIN GIRLS FIELD HOCKEY			
93	12	EA	FIELD HOCKEY GAME BALLS, CHINGFORD MULTI-TURF, WHITE,HB6	\$3.62	\$43.44	C.ROBBINS
94	4	EA	CAPTAIN ARMBANDS, 1 ROYAL, 3 RED, LONGSTRETH HL10	\$1.67	\$6.68	C.ROBBINS
95	1	PR	GOALKEEPER PANTS, STX HM90, BLACK, SMALL	\$57.24	\$57.24	C.ROBBINS
96	1	PR	GOALKEEPER PANTS, STX HM90D DELUXE, BLACK, SMALL	\$67.58	\$67.58	C.ROBBINS
97	1	EA	SCOREBOOKS, FIELD HOCKEY, HO40	\$7.43	\$7.43	C.ROBBINS
98	1	EA	THROAT PROTECTOR,LT76, RED	\$22.18	\$22.18	C.ROBBINS
99	24	EA	MOUTH GUARDS, HM100C LONGSTRETH, RED, ADULT	\$0.28	\$6.72	BSN
100	2	EA	TRAINING WEIGHT, BRINE HO49	\$15.90	\$31.80	C.ROBBINS
101	1	EA	SPEED LADDER,CSAGLXX, DYNAMIC WARM-UP	\$25.47	\$25.47	C.ROBBINS
102	1	SE T	FIELD HOCKEY HAND PROTECTORS, TK2 LONGSTRETH HGTK2HP, BLK/RED	\$214.49	\$214.49	C.ROBBINS
103	1	SE T	NIKE SPARQ TRAINING CARDS-LADDER DRILLS	\$15.82	\$15.82	C.ROBBINS
					\$498.85	

104	48	PR	COUGHLIN JR. HIGH GIRLS FIELD HOCKEY FIELD HOCKEY HOSE, 80% ORLON, 10% NYLON, 10%	\$2.48	\$119.04	C.ROBBINS
105	12	EA	HOCKEY SHIRTS, POLYESTER/COTTON, JERSEY KNIT	\$25.00	\$300.00	C.ROBBINS
106	12	EA	HOCKEY SHIRTS, POLYESTER/COTTON, JERSEY KNIT	\$25.00	\$300.00	C.ROBBINS
107	1	EA	THROAT PROTECTOR, TK1, LT76, SENIOR	\$22.18	\$22.18	C.ROBBINS
108	1	EA	SCOREBOOKS, FIELD HOCKEY, HO40	\$7.43	\$7.43	C.ROBBINS
109	50	EA	MOUTH GUARDS, HM100C LONGSTRETH, BLUE,	\$0.28	\$14.00	BSN
110	1	EA	CHEST PROTECTOR, TK1.3, HGTK1310, MED/LG	\$131.21	\$131.21	C.ROBBINS
111	1	SE T	FIELD HOCKEY HAND PROTECTORS, TK4, HGTK4HP,MED/LG	\$97.80	\$97.80	C.ROBBINS
112	1	EA	GOALIE SHIRTS, YELLOW OR ORANGE, SIZE MED, CG	\$31.00	\$31.00	C.ROBBINS
113	1	PR	ARM GUARDS, STX CLASH,LG	\$60.42	\$60.42	C.ROBBINS
114	1	EA	GOALIE PANTS, TK3, HMTK3P, MED/LG,	\$106.45	\$106.45	C.ROBBINS
115	1	SE T	TK 4 GOALKEEPING LEG GUARDS,HGTK4LG,MED	\$192.31	\$192.31	C.ROBBINS
116	1	SE T	GOALKEEPING KICKERS, TK4, HGTK4K, SM	\$133.48	\$133.48	C.ROBBINS
117	3	DZ	HOCKEY GAME BALLS, CHINGFORD MULTITURF	\$46.03	\$138.09	C.ROBBINS
					\$1,653.41	
			G.A.R. FIELD HOCKEY			
118	2	DZ	HOCKEY GAME BALLS, MULTI-TURF HB9	\$46.03	\$92.06	C.ROBBINS
119	4	DZ	HOCKEY PRACTICE BALLS, MULTI-TURF HB6	\$38.08	\$152.32	C.ROBBINS
120	60	PR	FIELD HOCKEY HOSE, 80% ORLON, 10% NYLON, 10%	\$2.48	\$148.80	C.ROBBINS
121	36	PR	FIELD HOCKEY HOSE, 80% ORLON, 10% NYLON, 10%	\$2.48	\$89.28	C.ROBBINS
122	36	PR	FIELD HOCKEY HOSE, 80% ORLON, 10% NYLON, 10%	\$2.48	\$89.28	C.ROBBINS
123	1	SE T	ARM PADS,STX CLASH, SMALL	\$60.42	\$60.42	C.ROBBINS
124	2	EA	SCOREBOOKS, FIELD HOCKEY, HO40	\$7.43	\$14.86	C.ROBBINS
125	100	EA	MOUTH GUARDS, MG-103, BLACK, WITHOUT STRAPS	\$0.28	\$28.00	BSN
126	1	EA	GOALKEEPER BAG, GRYPHON WITH WHEELS, BIG BETTY	\$130.30	\$130.30	C.ROBBINS

127	2	EA	BALL BAG,TK HO2TK9BB10	\$20.59	\$41.18	C.ROBBINS
128	3	EA	FIELD HOCKEY STICKS, GRAYS CX750, 36"	\$60.00	\$180.00	C.ROBBINS
129	5	EA	FIELD HOCKEY STICKS, STX 85/10, 34"	\$60.00	\$300.00	C.ROBBINS
130	6	EA	CAPTAIN'S ARM BANDS, RED, HL10	\$1.67	\$10.02	C.ROBBINS
131	40	EA	DISC CONES, 20 ORANGE, 20 YELLOW	\$0.36	\$14.40	CANNON
132	8	EA	POLYSPOT MARKERS,ORANGE, CMSP	\$1.20	\$9.60	CANNON
					\$1,360.52	
			MEYERS GIRLS FIELD HOCKEY			
400	4	SE	DEDI ACEMENT VIOVED CTDADO, TV LICCAAC	<b>#22.46</b>	<b>#22.40</b>	C DODDING
133	1	T	REPLACEMENT KICKER STRAPS, TK HGS11S	\$33.46	\$33.46	C.ROBBINS
134	1	PR 	NETS ,FIELD HOCKEY, H085	\$89.86	\$89.86	BSN
135	1	EA	GOALIE JERSEY, RUSSELL, GOLD, R10966MK, SIZE XL, #42 #43	\$12.00	\$12.00	C.ROBBINS
136	20	PR	KNEE PADS, BIKE 7275, WHITE	\$5.16	\$103.20	C.ROBBINS
137	36	PR	ORLON ACRYLIC TUBE SOCKS, ADULT LARGE, 24 NAVY	\$2.48	\$89.28	C.ROBBINS
138	40	EA	JERSEY,YALE REVERSIBLE MESH, YRMJH332, WHITE/NAVY	\$7.43	\$297.20	C.ROBBINS
139	3	DZ	GAME BALLS, TK MULTI-TURF, WHITE, LONGSTRE HB4,	\$55.50	\$166.50	C.ROBBINS
140	4	EA	CAPTAIN ARMBANDS, LONGSTRETH HL10, RED	\$1.67	\$6.68	C.ROBBINS
141	1	EA	SCOREBOOK, HO40 LONGSTRETH	\$6.00	\$6.00	C.ROBBINS
142	1	EA	EQUIPMENT BAG, BIG BETTY GRYPHON V2 WHEELED HO2GRBB11	\$130.30	\$130.30	C.ROBBINS
					\$934.48	
			MEYERS JR HIGH FIELD HOCKEY			
143	2	DZ	GAME BALLS, TK NFHS Multi-Turf Ball ,HB4	\$46.50	\$93.00	C.ROBBINS
144	1	EA	EQUIPMENT BAG, BIG BETTY GRYPHON V2 WHEELED HO2GRBB11	\$130.30	\$130.30	C.ROBBINS
145	1	SE T	REPLACEMENT KICKER STRAPS, TK HGS11S	\$33.46	\$33.46	C.ROBBINS
146	2	EA	SCOREBOOK, HO40	\$7.43	\$14.86	C.ROBBINS
147	1	SE T	DOME CONES, ORANGE, HO100	\$32.00	\$32.00	AAE
					****	

\$303.62

148	30	EA	COUGHLIN BOYS SOCCER BALLS, PRACTICE, BRINE ATLANTIS, RED/WHITE, #5	\$11.89	\$356.70	BSN
149	5	EA	GAME BALLS, BRINE BC105N	\$37.57	\$187.85	C.ROBBINS
150	4	EA	ADJUSTABLE CAPTIAN ARM BAND, BLACK, CABAV	\$1.67	\$6.68	C.ROBBINS
151	2	EA	GOAL KEEPER GLOVE, ADIDAS RESPONSE, 1 SIZE 9, 1 SIZE 10	\$96.88	\$193.76	C.ROBBINS
152	40	EA	SOCCER SOCK, WHITE, ADIDAS FIELD SOCK, NO SUB	\$8.75	\$350.00	C.ROBBINS
153	40	EA	SOCCER SOCK, UNIVERSITY RED/WHITE ADIDAS FIELD,NO SUB	\$8.75	\$350.00	C.ROBBINS
154	1	EA	BRINE SOCCER SCOREBOOKS, SBI	\$3.52	\$3.52	BSN
155	1	SE T	POP-UP GOALS, PUGG, NO SUB	\$68.25	\$68.25	C.ROBBINS
156	2	EA	GOALKEEP JERSEY, ADIDAS TRAVERSA- GREY NUMBERED 99- 00 MEDIUM, SMALL	\$42.00	\$84.00	C.ROBBINS
157	40	EA	UNIFORMS, ADIDAS REGISTA JERSEY, RED/WHT TRIM,	\$27.74	\$1,109.60	C.ROBBINS
158	40	EA	UNIFORM SHORTS, ADIDAS EQUIPO, NAVY W/WHT TRIM	\$16.19	\$647.60	C.ROBBINS
					\$3,357.96	
			COUGHLIN JR. HIGH SOCCER (SOLOMON)			
159	6	EA	COUGHLIN JR. HIGH SOCCER (SOLOMON)  GAME BALLS, BRINE BC105N	\$37.57	\$225.42	C.ROBBINS
159 160	6	EA EA		\$37.57 \$0.12	\$225.42 \$0.72	C.ROBBINS
			GAME BALLS, BRINE BC105N		·	
160	6	EA	GAME BALLS, BRINE BC105N INFLATION NEEDLES	\$0.12	\$0.72	CANNON
160 161	6 36	EA PR	GAME BALLS, BRINE BC105N INFLATION NEEDLES SOCCER SOCKS, FOOTED 100% NYLON, RED, FSH	\$0.12 \$3.50	\$0.72 \$126.00	CANNON C.ROBBINS
160 161 162	6 36 36	EA PR PR	GAME BALLS, BRINE BC105N INFLATION NEEDLES SOCCER SOCKS, FOOTED 100% NYLON, RED, FSH SOCCER SOCKS, FOOTED 100% NYLON, WHITE, FSH	\$0.12 \$3.50 \$3.50	\$0.72 \$126.00 \$126.00	CANNON C.ROBBINS C.ROBBINS
160 161 162 163	6 36 36 6	EA PR PR EA	GAME BALLS, BRINE BC105N INFLATION NEEDLES SOCCER SOCKS, FOOTED 100% NYLON, RED, FSH SOCCER SOCKS, FOOTED 100% NYLON, WHITE, FSH BALLS, PRACTICE, BRINE ATLANTIS, RED/WHITE, #5	\$0.12 \$3.50 \$3.50 \$11.89	\$0.72 \$126.00 \$126.00 \$71.34	CANNON C.ROBBINS C.ROBBINS BSN
<ul><li>160</li><li>161</li><li>162</li><li>163</li><li>164</li></ul>	6 36 36 6	EA PR EA PR	GAME BALLS, BRINE BC105N INFLATION NEEDLES SOCCER SOCKS, FOOTED 100% NYLON, RED, FSH SOCCER SOCKS, FOOTED 100% NYLON, WHITE, FSH BALLS, PRACTICE,BRINE ATLANTIS, RED/WHITE, #5 GOAL KEEPER GLOVE,ADIDAS RESPONSE, 1 SIZE 9, 1 SIZE 10	\$0.12 \$3.50 \$3.50 \$11.89 \$60.00	\$0.72 \$126.00 \$126.00 \$71.34 \$120.00	CANNON C.ROBBINS C.ROBBINS BSN C.ROBBINS
160 161 162 163 164 165	6 36 36 6 2	EA PR EA PR EA	GAME BALLS, BRINE BC105N INFLATION NEEDLES SOCCER SOCKS, FOOTED 100% NYLON, RED, FSH SOCCER SOCKS, FOOTED 100% NYLON, WHITE, FSH BALLS, PRACTICE,BRINE ATLANTIS, RED/WHITE, #5 GOAL KEEPER GLOVE,ADIDAS RESPONSE, 1 SIZE 9, 1 SIZE 10 SOCCER BALL BAGS	\$0.12 \$3.50 \$3.50 \$11.89 \$60.00 \$9.98	\$0.72 \$126.00 \$126.00 \$71.34 \$120.00 \$19.96	CANNON  C.ROBBINS  C.ROBBINS  BSN  C.ROBBINS  BSN
160 161 162 163 164 165 166	6 36 36 6 2 2	EA PR EA PR EA EA	GAME BALLS, BRINE BC105N INFLATION NEEDLES SOCCER SOCKS, FOOTED 100% NYLON, RED, FSH SOCCER SOCKS, FOOTED 100% NYLON, WHITE, FSH BALLS, PRACTICE,BRINE ATLANTIS, RED/WHITE, #5 GOAL KEEPER GLOVE,ADIDAS RESPONSE, 1 SIZE 9, 1 SIZE 10 SOCCER BALL BAGS COMPRESSION SHINGUARD SLEEVES, BRINE GURU, SM	\$0.12 \$3.50 \$3.50 \$11.89 \$60.00 \$9.98 \$5.08	\$0.72 \$126.00 \$126.00 \$71.34 \$120.00 \$19.96 \$60.96	CANNON C.ROBBINS C.ROBBINS BSN C.ROBBINS BSN C.ROBBINS

169	12	EA	PRACTICE BALLS, BRINE SWHS	\$11.89	\$142.68	BSN
170	1	EA	SOCCER SCOREBOOKS, SB1	\$3.52	\$3.52	BSN
171	1	EA	FALCON AIR HORN REFILL	\$4.67	\$4.67	C.ROBBINS
172	30	EA	SAUCER CONES, ORANGE, SCX	\$0.36	\$10.80	CANNON
173	1	EA	SAUCER CONE CARRIER, SCC	\$2.16	\$2.16	BSN
174	2	EA	SOCCER GOAL GLOVES, TRIUMPH 5X,SGLTRI5X, SIZE 7, SIZE 8	\$18.99	\$37.98	PYRAMID
175	1	EA	GOALIE JERSEY, BLAST, GOLD/WHITE/BLACK, MEDIUM	\$25.28	\$25.28	C.ROBBINS
176	1	EA	POCKET PUMP W/GUAGE	\$15.00	\$15.00	C.ROBBINS
177	30	PR	100% NYLON FOOTED SOCCER SOCKS, NAVY FSH	\$3.11	\$93.30	C.ROBBINS
178	30	PR	100% NYLON FOOTED SOCCER SOCKS, WHITE FSH	\$3.11	\$93.30	C.ROBBINS
179	3	EA	WHISTLES,PLASTIC, 601	\$0.34	\$1.02	CANNON
180	3	EA	LANYARDS FOR WHISTLES,BLUE	\$0.27	\$0.81	C.ROBBINS
181	4	EA	CAPTAIN ARMS BANDS, RED	\$1.67	\$6.68	C.ROBBINS
					\$662.62	
			G.A.R.BOYS SOCCER			
182	30	EA	NYLON SOCCER HOSE, WHITE, FSH	\$3.11	\$93.30	C.ROBBINS
183	30	EA	NYLON SOCCER HOSE, NAVY, FSH	\$3.11	\$93.30	C.ROBBINS
183 184	30 5	EA EA	NYLON SOCCER HOSE, NAVY, FSH  GAME BALLS, BRINE BC105N	\$3.11 \$37.57	\$93.30 \$187.85	C.ROBBINS C.ROBBINS
184	5	EA	GAME BALLS, BRINE BC105N	\$37.57	\$187.85 \$142.68	C.ROBBINS
184 185	5	EA EA	GAME BALLS, BRINE BC105N BRINE SOCCER BALL, SWHS	\$37.57 \$11.89	\$187.85 \$142.68	C.ROBBINS BSN
184 185 186	5 12 1	EA EA	GAME BALLS, BRINE BC105N  BRINE SOCCER BALL, SWHS  BRINE SOCCER SCOREBOOKS, SBI	\$37.57 \$11.89 \$3.52	\$187.85 \$142.68 \$3.52	C.ROBBINS BSN BSN
184 185 186 187	5 12 1 2	EA EA EA	GAME BALLS, BRINE BC105N  BRINE SOCCER BALL, SWHS  BRINE SOCCER SCOREBOOKS, SBI  SOCCER BALL BAG, CB100  BLAST GOALKEEPER JERSEY, 24320, GOLD/WHITE/BLACK,	\$37.57 \$11.89 \$3.52 \$9.98	\$187.85 \$142.68 \$3.52 \$19.96	C.ROBBINS BSN BSN
184 185 186 187	5 12 1 2	EA EA EA	GAME BALLS, BRINE BC105N  BRINE SOCCER BALL, SWHS  BRINE SOCCER SCOREBOOKS, SBI  SOCCER BALL BAG, CB100  BLAST GOALKEEPER JERSEY, 24320, GOLD/WHITE/BLACK, LARGE	\$37.57 \$11.89 \$3.52 \$9.98 \$22.10	\$187.85 \$142.68 \$3.52 \$19.96 \$22.10	C.ROBBINS BSN BSN BSN C.ROBBINS
184 185 186 187 188 189	5 12 1 2 1 2	EA EA EA EA	GAME BALLS, BRINE BC105N  BRINE SOCCER BALL, SWHS  BRINE SOCCER SCOREBOOKS, SBI  SOCCER BALL BAG, CB100  BLAST GOALKEEPER JERSEY, 24320, GOLD/WHITE/BLACK, LARGE  TRIUMPH 5X GOALIE GLOVES, SGLTRI5X, SIZES: 9 AND 10	\$37.57 \$11.89 \$3.52 \$9.98 \$22.10 \$18.99	\$187.85 \$142.68 \$3.52 \$19.96 \$22.10 \$37.98	C.ROBBINS BSN BSN C.ROBBINS PYRAMID
184 185 186 187 188 189	5 12 1 2 1 2	EA EA EA EA EA	GAME BALLS, BRINE BC105N  BRINE SOCCER BALL, SWHS  BRINE SOCCER SCOREBOOKS, SBI  SOCCER BALL BAG, CB100  BLAST GOALKEEPER JERSEY, 24320, GOLD/WHITE/BLACK, LARGE  TRIUMPH 5X GOALIE GLOVES, SGLTRI5X, SIZES: 9 AND 10  REFILL FOR AIR HORN ,FSHN	\$37.57 \$11.89 \$3.52 \$9.98 \$22.10 \$18.99 \$8.85	\$187.85 \$142.68 \$3.52 \$19.96 \$22.10 \$37.98 \$8.85	C.ROBBINS BSN BSN C.ROBBINS PYRAMID C.ROBBINS
184 185 186 187 188 189 190	5 12 1 2 1 2 1 25	EA EA EA EA EA EA	GAME BALLS, BRINE BC105N  BRINE SOCCER BALL, SWHS  BRINE SOCCER SCOREBOOKS, SBI  SOCCER BALL BAG, CB100  BLAST GOALKEEPER JERSEY, 24320, GOLD/WHITE/BLACK, LARGE  TRIUMPH 5X GOALIE GLOVES, SGLTRI5X, SIZES: 9 AND 10  REFILL FOR AIR HORN ,FSHN  SIZE SMALL MEDIUM LARGE XLARGE	\$37.57 \$11.89 \$3.52 \$9.98 \$22.10 \$18.99 \$8.85 \$42.76	\$187.85 \$142.68 \$3.52 \$19.96 \$22.10 \$37.98 \$8.85 \$1,069.00	C.ROBBINS BSN BSN C.ROBBINS PYRAMID C.ROBBINS C.ROBBINS
184 185 186 187 188 189 190 191	5 12 1 2 1 2 1 25 25	EA EA EA EA EA EA EA EA	GAME BALLS, BRINE BC105N  BRINE SOCCER BALL, SWHS  BRINE SOCCER SCOREBOOKS, SBI  SOCCER BALL BAG, CB100  BLAST GOALKEEPER JERSEY, 24320, GOLD/WHITE/BLACK, LARGE  TRIUMPH 5X GOALIE GLOVES, SGLTRI5X, SIZES: 9 AND 10  REFILL FOR AIR HORN ,FSHN  SIZE SMALL MEDIUM LARGE XLARGE  AZIONE JERSEY, 010 WHITE, CR993410	\$37.57 \$11.89 \$3.52 \$9.98 \$22.10 \$18.99 \$8.85 \$42.76	\$187.85 \$142.68 \$3.52 \$19.96 \$22.10 \$37.98 \$8.85 \$1,069.00 \$1,069.00	C.ROBBINS BSN BSN C.ROBBINS PYRAMID C.ROBBINS C.ROBBINS

			60QT ICE CHEST, 24 SQ BTL, 4 CARRIERS, 1-7GAL COOLER			
195	4	EA	CAPTAIN ARM BANDS, RED	\$1.67	\$6.68	C.ROBBINS
196	3	EA	WHISTLES, PLASTIC #601	\$0.34	\$1.02	CANNON
197	3	EA	LANYARDS FOR WHISTLES	\$0.27	\$0.81	C.ROBBINS
198	1	EA	TABLETOP DIGITAL TIMER, AE520S	\$28.99	\$28.99	PYRAMID
199	1	EA	POCKET PUMP W/GUAGE	\$15.00	\$15.00	C.ROBBINS
					\$3,520.06	
			MEYERS JR HIGH SOCCER			
200	48	PR	SOCCER HOSE, CHAMPION FLAT KNIT, ROYAL, TWIN CITY	\$4.87	\$233.76	C.ROBBINS
201	48	PR	SOCCER HOSE, CHAMPION FLAT KNIT, WHITE TWIN CITY	\$4.87	\$233.76	C.ROBBINS
202	2	EA	BALL BAGS,KWIKGOAL 5B1061, NO SUB	\$23.93	\$47.86	C.ROBBINS
203	1	EA	SOCCER SCOREBOOKS, KWIKGOAL 20B601, NO SUB	\$6.99	\$6.99	PYRAMID
204	6	EA	GAME BALLS, BRINE BC105N	\$36.92	\$221.52	C.ROBBINS
205	1	PR	BRINE PREMIER SOCCER GOAL GLOVES, KGPRM2, SIZE 7	\$22.50	\$22.50	C.ROBBINS
206	1	EA	GOALIE SHIRTS,SIZE AM	\$21.53	\$21.53	C.ROBBINS
					\$787.92	
			MEYERS BOYS SOCCER			
207	36	PR	DIADORA AZZURRI SOCCER SOCKS 249 ROYAL/GOLD	\$9.45	\$340.20	C.ROBBINS
208	36	PR	DIADORA AZZURRI SOCCER SOCKS 012 WHITE	\$9.45	\$340.20	C.ROBBINS
209	1	PR	BRINE PREMIER SOCCER GOAL GLOVES, KGPRM2, SIZE 7	\$22.50	\$22.50	C.ROBBINS
210	1	EA	BALL BAGS,KWIKGOAL 5B1061, NO SUB	\$20.96	\$20.96	C.ROBBINS
211	12	EA	PRACTICE VESTS MESH, LIME GR, ADULT	\$2.79	\$33.48	C.ROBBINS
212	3	EA	SERIE A JERSEY,993420 WHITE COLOR #010	\$80.00	\$240.00	C.ROBBINS
213	12	EA	GAME BALLS, BRINE BC105N	\$37.57	\$450.84	C.ROBBINS
214	1	EA	SCOREBOOK 20B601 KWIK GOAL, NO SUB	\$6.99	\$6.99	PYRAMID
					¢4 4EE 47	

\$1,455.17

COUGHLIN GIRLS SOCCER						
215	8	ea	Soccer game balls, BRINE BC105N	\$36.92	\$295.36	C.ROBBINS
216	6	ea	Captain Armbands, Red	\$1.67	\$10.02	C.ROBBINS
217	48	pr	Soccer Socks, Red #36 Adidas Elite, University red/white	\$12.40	\$595.20	C.ROBBINS
218	48	pr	Soccer Socks, white #36 Adidas Elite, University white/red	\$12.40	\$595.20	C.ROBBINS
219	12	ea	Pump needles for balls	\$0.12	\$1.44	CANNON
220	12	pr	Finger Save Goalie Gloves, Adidas GK, Womens	\$24.75	\$297.00	C.ROBBINS
221	2	ea	Soccer jerseys, Traversa Goalkeeping Jersey,007564 lemon peel/fresh	\$27.83	\$55.66	C.ROBBINS
222		ea	Jersey, womens Adidas Campeon Jersey, white/white, E19626	\$70.00		C.ROBBINS
223		ea	Jersey, womens Adidas Campeon Jersey, Univ red/white, E19628	\$70.00		C.ROBBINS
224		ea	Soccer shorts, T9060006W Adidas Equipo, New Navy/white,E19606	\$21.75		C.ROBBINS
225	1	ea	Gatorade Create your own Large Hydration pack	\$204.02	\$204.02	C.ROBBINS
					\$2,053.90	
			G.A.R. GIRLS SOCCER			
226	30	PR	G.A.R. GIRLS SOCCER  SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB	\$6.93	\$207.90	C.ROBBINS
226 227	30 30	PR PR		\$6.93 \$6.93	\$207.90 \$207.90	C.ROBBINS C.ROBBINS
			SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB			
227	30	PR	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB	\$6.93	\$207.90	C.ROBBINS
227 228	30 6	PR EA	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB GAME BALLS, BRINE BC105N	\$6.93 \$37.57	\$207.90 \$225.42	C.ROBBINS C.ROBBINS
227 228 229	30 6 5	PR EA EA	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB GAME BALLS, BRINE BC105N BALLS, INTERNATIONAL IHS32, BLK/WHT, SIZE 5 NO SUB	\$6.93 \$37.57 \$19.99	\$207.90 \$225.42 \$99.95	C.ROBBINS C.ROBBINS BSN
227 228 229 230	30 6 5 1	PR EA EA	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB GAME BALLS, BRINE BC105N BALLS, INTERNATIONAL IHS32, BLK/WHT, SIZE 5 NO SUB SCOREBOOK, BRINE SB1	\$6.93 \$37.57 \$19.99 \$3.52	\$207.90 \$225.42 \$99.95 \$3.52	C.ROBBINS C.ROBBINS BSN BSN
227 228 229 230 231	30 6 5 1	PR EA EA PR	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB GAME BALLS, BRINE BC105N BALLS, INTERNATIONAL IHS32, BLK/WHT, SIZE 5 NO SUB SCOREBOOK, BRINE SB1 GOALIE GLOVES, TRIUMPH 3X, SGLT3X7, SIZES 8 AND 9	\$6.93 \$37.57 \$19.99 \$3.52 \$18.99	\$207.90 \$225.42 \$99.95 \$3.52 \$37.98	C.ROBBINS C.ROBBINS BSN BSN PYRAMID
227 228 229 230 231 232	30 6 5 1 2	PR EA EA PR EA	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB GAME BALLS, BRINE BC105N BALLS, INTERNATIONAL IHS32, BLK/WHT, SIZE 5 NO SUB SCOREBOOK, BRINE SB1 GOALIE GLOVES, TRIUMPH 3X, SGLT3X7, SIZES 8 AND 9 SCRIMMAGE VESTS, MESH BLUE	\$6.93 \$37.57 \$19.99 \$3.52 \$18.99 \$1.48	\$207.90 \$225.42 \$99.95 \$3.52 \$37.98 \$14.80	C.ROBBINS C.ROBBINS BSN BSN PYRAMID BSN
227 228 229 230 231 232 233	30 6 5 1 2 10	PR EA EA PR EA EA	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB GAME BALLS, BRINE BC105N BALLS, INTERNATIONAL IHS32, BLK/WHT, SIZE 5 NO SUB SCOREBOOK, BRINE SB1 GOALIE GLOVES, TRIUMPH 3X, SGLT3X7, SIZES 8 AND 9 SCRIMMAGE VESTS, MESH BLUE ACCUSPLIT TIMER 520S	\$6.93 \$37.57 \$19.99 \$3.52 \$18.99 \$1.48 \$14.75	\$207.90 \$225.42 \$99.95 \$3.52 \$37.98 \$14.80 \$14.75	C.ROBBINS C.ROBBINS BSN BSN PYRAMID BSN C.ROBBINS
227 228 229 230 231 232 233 234	30 6 5 1 2 10 1	PR EA EA PR EA EA EA	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB GAME BALLS, BRINE BC105N BALLS, INTERNATIONAL IHS32, BLK/WHT, SIZE 5 NO SUB SCOREBOOK, BRINE SB1 GOALIE GLOVES, TRIUMPH 3X, SGLT3X7, SIZES 8 AND 9 SCRIMMAGE VESTS, MESH BLUE ACCUSPLIT TIMER 520S DISC CONES, ORANGE	\$6.93 \$37.57 \$19.99 \$3.52 \$18.99 \$1.48 \$14.75 \$0.36	\$207.90 \$225.42 \$99.95 \$3.52 \$37.98 \$14.80 \$14.75 \$8.64	C.ROBBINS C.ROBBINS BSN BSN PYRAMID BSN C.ROBBINS
227 228 229 230 231 232 233 234 235	30 6 5 1 2 10 1 24 4	PR EA EA PR EA EA EA EA	SOCKS,ADIDAS FIELD II,3211190, MEDIUM, WHITE, NO SUB SOCKS,ADIDAS FIELD II,3211192, MEDIUM, NAVY, NO SUB GAME BALLS, BRINE BC105N  BALLS, INTERNATIONAL IHS32, BLK/WHT, SIZE 5 NO SUB SCOREBOOK, BRINE SB1 GOALIE GLOVES, TRIUMPH 3X, SGLT3X7, SIZES 8 AND 9 SCRIMMAGE VESTS, MESH BLUE ACCUSPLIT TIMER 520S DISC CONES, ORANGE CAPTAIN ARM BANDS, BLUE	\$6.93 \$37.57 \$19.99 \$3.52 \$18.99 \$1.48 \$14.75 \$0.36 \$1.73	\$207.90 \$225.42 \$99.95 \$3.52 \$37.98 \$14.80 \$14.75 \$8.64 \$6.92	C.ROBBINS C.ROBBINS BSN BSN PYRAMID BSN C.ROBBINS CANNON C.ROBBINS

# MEYERS GIRLS SOCCER

\$1,043.34

238	1	ea	Scorebook, Kwikgoal 20B601, NO SUB	\$5.42	\$5.42	C.ROBBINS
239	6	ea	Soccer game balls, BRINE BC105N	\$37.57	\$225.42	C.ROBBINS
240	18	pr	Soccer Socks, White/navy, Diadora Puccini 995365 ,NO SUB	\$9.75	\$175.50	C.ROBBINS
241	18	pr	Soccer Socks, navy/white, Diadora Puccini 995360, NO SUB	\$9.75	\$175.50	C.ROBBINS
					\$581.84	
			COUGHLIN BOYS/GIRLS CROSS COUNTRY			
242	18	EA	CROSS COUNTRY SHORT SLEEVE T-SHIRTS, JERZEES	\$15.75	\$283.50	C.ROBBINS
					\$283.50	
			G.A.R. CROSS COUNTRY			
243	12	EA	SWEAT SHIRTS, RUSSELL DRY POWER HOODED, NAVY,	\$16.59	\$199.08	C.ROBBINS
					\$199.08	
			MEYERS CROSS COUNTRY			
244	4	EA	POLO SHIRTS, IZOD PIQUE ADULT, NAVY	\$31.43	\$125.72	C.ROBBINS
245	2	EA	STOPWATCH, ULTRATRAK 100, MODEL 495, NO SUB	\$23.28	\$46.56	C.ROBBINS
246	6	EA	HOODED SWEATSHIRT, CHAMPION S2402, 50/50, R20NAVY	\$16.59	\$99.54	C.ROBBINS
247	12	EA	T-SHIRTS, RUSSELL, NAVY, 2-SM, 6-M, 4-L	\$7.10	\$85.20	C.ROBBINS
248	5	RL	SEIKO THERMAL PAPER FOR S-950	\$6.40	\$32.00	CANNON
249	6	EA	LONGSLEEVE T UNDER ARMOUR HEATGEAR, 410 NAVY,	\$38.00	\$228.00	C.ROBBINS
					\$617.02	
			COUGHLIN GOLF			
250	24	EA	SHIRTS, HOLLOWAY CAPTIVATE POLO,222454	\$35.63	\$855.12	C.ROBBINS
251	24	EA	RICHARDSON PERFORMANCE FABRIC 315 CAPS, SIZES:S-6,M-18	\$13.13	\$315.12	C.ROBBINS
					\$1,170.24	
			CARCOLE			
252	12	EA	G.A.R. GOLF  COTTON BASEBALL CAPS,BRUSHED CHINO FLEXFIT #285	\$13.50	\$162.00	C.ROBBINS
253	1000	EA	WOODEN TEES, 800 SHORT, 200 LONG	\$0.10	\$100.00	C.ROBBINS
254	12	EA	SHIRTS, IZOD PIQUE POLO, GREY SMOKE	\$31.44	\$377.28	C.ROBBINS
255	6	EA	GOLF BAGS, NAVY/WHITE, VARSITY	\$142.50	\$855.00	C.ROBBINS

					\$1,494.28	
256	12	EA	MEYERS GOLF SHIRTS, IZOD PIQUE POLO, NAVY	\$29.94	\$359.28	C.ROBBINS
257	12	EA	SHIRTS, IZOD PIQUE POLO, WHITE	\$29.94	\$359.28	C.ROBBINS
258	12	EA	HATS, RICHARDSON FLEX-FIT, TAN W/NAVY PRINT, S/M, NO SUB	\$13.50	\$162.00	C.ROBBINS
259		DZ	GOLF BALLS, TITLEIST DT SOLO, W/DISTRICT LOGO, WBASD	\$24.87		C.ROBBINS
					\$880.56	
			OCUCIA IN CIRLO TENNIO			
260	3	cs	COUGHLIN GIRLS TENNIS TENNIS BALLS, WILSON HARD COURT HEAVY DUTY,	\$57.36	\$172.08	PYRAMID
261	24	EA	WOMEN'S VISORS, WHITE VISOR, NAVY LETTERS EMBR	\$9.54	\$228.96	C.ROBBINS
262	1	EA	SERVE DOCTOR, STROKE DEV AID, NO SUB	\$79.90	\$79.90	C.ROBBINS
263	1	EA	PRACTICE HIT, STROKE DEV AID, NO SUB	\$138.00	\$138.00	C.ROBBINS
264	1	EA	NET,COURTMASTER ROYALE DOUBLE CENTER,, NO SUB	\$232.50	\$232.50	C.ROBBINS
					\$851.44	
			G.A.R. GIRLS TENNIS			
265	3	CS	TENNIS BALLS, WILSON X-DUTY CHAMPIONSHIP,	\$57.36	\$172.08	PYRAMID
266	12	EA	TENNIS RACQUET GRIPS, WILSON "CONTOUR" GRIP BLACK	\$7.00	\$84.00	C.ROBBINS
267	2	EA	ROL-DRI UNIT WITH MASTER ROLLER	\$41.78	\$83.56	BSN
					\$339.64	

TOTAL \$65,115.93

# 3. Gymnasium Floor Refinishing

That having inspected the bids opened on March 23, 2012 that the award for Gym Floors Refinishing be made to the following bidder as listed below:

Miller Flooring Co. for a cost of \$ 7,755.00 for "A" Standard gym floor refinishing plus another \$19,000.00 for "B" Total restoration of Coughlin floor. Bid results are listed below.

	"A"(Standard)	"B"(Total)
CHS	(\$2,520.00)	\$19,000.00
G.A.R.	\$2,590.00	
MHS	\$1,780.00	\$13,150.00
SOLOM	\$2,115.00	\$15,800.00
	G.A.R. MHS	CHS (\$2,520.00) G.A.R. \$2,590.00 MHS \$1,780.00

		WB TWP	\$1,270.00		\$ 9,100.00
		TOTAL	\$7,755.00		
Mastercraft Hardwood Flooring		CHS	\$3,300.00		\$22,000.00
		G.A.R.	\$3,220.00		
MHS	\$1,900.00		\$13,600.00		
		SOLOM	\$2,500.00		\$17,000.00
		WB TWP	\$1,500.00		\$ 9,400.00
		TOTAL	\$12,420.00		
Jack Devine Floor I	Restorations	CHS	\$3,550.00		\$18,750.00
		G.A.R	\$3,495.00		, ,
		MHS	\$2,500.00		\$12,500.00
		SOLOM	\$2,850.00		\$14,950.00
		WB TWP	\$1,650.00		\$ 9,400.00
		TOTAL	\$14,045.00		
Fast Break Athletic	Courts, Inc.	CHS	\$4,995.00		\$23,090.00
	· · · · · · · · · · · · · · · · ·	G.A.R.	\$4,770.00		, -,
		MHS	\$3,060.00		\$12,920.00
		SOLOM	\$3,825.00		\$16,150.00
		WB TWP	\$2,115.00		\$ 8,930.00
		TOTAL	\$18,765.00		_
<b>American Janitor</b>	$(\mathbf{DQ})$	CHS	\$	\$	
		G.A.R.	\$	\$	
		MHS	\$	\$	
		SOLOM	\$2,450.00	\$ \$	
		WB TWP	\$	\$	
		TOTAL	\$2,450.00		

### 4. Science Tables and Chairs for G.A.R. Science Department

After soliciting a quote from Virco Mfg. Co. under the U.S. Communities 2012 Master Agreement #0844685 Contract, and review that a purchase of 93 science tables and chairs be made for the G.A.R. Science Department classrooms. The quote is attached as follows.

Total cost \$29,701.14

**Ms. Evans moved, seconded by Dr. Corcoran,** to adopt the report. The vote was as follows:

9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

Items - #1 # 2 and # 4

6 Ayes: Evans, Galella, Latinski (Proxy), Quinn, Susek (Proxy), Toole (Item #3)

3 Nays: Corcoran, Elmy, Katsock, (Item #3)

Mr. Galella informed the Board he would like to see some concessions made to the amount of items being ordered for sports in order to save the District money, in the event there were items that could be eliminated. After further discussion with the Board Members it was decided to instruct the Athletic Directors to meet with their coaching staffs and have each school decrease their requisitions by 10 %.

### PERSONNEL COMMITTEE REPORT

### Ms. Evans presented the following report and recommendations for the Board's approval:

All appointments are made pending receipt of required clearances.

### A. Professional

- 1. That the retirement of **Linda Evans Gruner** be accepted with regret effective the last day of the 2011-2012 school year.
- 2. That **Janice Horn** be granted a Family Medical Leave beginning March 29, 2012 and returning April 17, 2012.
- 3. That **Kristin Harris** rescind Family Medical Leave beginning April 13, 2012 (Refer to Board Minutes, dated April 11, 2012). Accumulated sick days will be used through end of 2011-2012 school year, returning the first day of the 2012-2013 school year.
- 4. That the retirement of **Susan Mengeringhausen** be accepted with regret, under the early retirement provision of the collective bargaining agreement, effective the last day of the 2011-2012 school year.
- 5. That the retirement of **Linda McCarthy** be accepted with regret, under the early retirement provision of the collective bargaining agreement, effective the last day of the 2011-2012 school year.
- 6. That **Sharon Makuka** be granted disability benefits for one year, effective April 20, 2012 and to rescind and revise Board Action of March 15, 2012 to reflect FMLA from January 25, 2012 through April 19, 2012.
- 7. That the retirement of **Robert C. Nilon** be accepted with regret effective the last day of the 2011-2012 school year.
- 8. That the retirement of **Maureen Williams** be accepted with regret, under the early retirement provision of the collective bargaining agreement, effective the last day of the 2011-2012 school year.

### B. CLASSIFIED

### Custodial/Maintenance

1. That the retirement of **William Davis** be accepted with regret, effective July 31, 2012.

#### **Teacher Associate**

1. That the retirement of **Susan Shovlin** be accepted with regret, effective the last day of the 2011-2012 school year.

### C. SUMMER SCHOOL 2011-2012

1. That a maximum of 105 hours of psychological testing during the summer be approved.

### D. SCHOOL HEALTH

1. That the following physicians be appointed for the 2012-2013 school year and that their compensation be set at the amounts listed next to their names:

Physician	Service	Fee
Dr. Peter J. Andrews, Jr.	Meyers Football Games Only	\$729/year
Dr. John Consalvo	School Exams	\$5,615/year
Dr. Patrick Kerrigan	School Exams / Working Papers	\$5,615/year
Dr. Gunnar Kosek	Athletic Exams / School Exams	Per agreement with Geisinger
Dr. Kimberly Kovalick	Athletic Exams (as needed)	Per agreement with Geisinger
Dr. William Krywicki	Athletic Exams Football Games (CHS-Home)	\$5,615/year \$729/year
Dr. George Moses	Chief Medical Examiner Athletic Exams Football Games	\$5,615/year \$729/year

2. That **John Andrews**, **DDS**, be appointed Dental Consultant for the 2012-2013 school year and that his compensation be set at \$1,000 per year.

### E. School Athletic Program

1. The following appointments will be continued on a season-to-season basis, unless the post is declared vacant by the Board of Directors.

G.A.R. Boys Var. Track/Field

Volunteer

**James Post** 

**Ms. Evans moved, seconded by Dr. Corcoran,** to adopt the report. The vote was as follows: **9 Ayes:** Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

### Ms. Evans presented Resolution #2

### RESOLUTION

WHEREAS, the recent death of **ELIZABETH A. McGOUGH** has brought sorrow to her family, friends, and all who knew her; and

WHEREAS, she was the librarian at E.L. Meyers High School; and

WHEREAS, her passing on April16, 2012, will leave an unfillable void in the lives of all who knew and loved her.

THEREFORE, BE IT RESOLVED, that her death be recorded in the minutes of the Board of School Directors and that the Secretary be instructed to express the sympathy of the members of the Board to her husband, Bernard; sons, Stephen and Andrew; and to her brother, David; and to her entire family.

Wilkes-Barre, PA May 9, 2012

Ms. Evans moved, to adopt the resolution.by ACCLAMATION

### **ALL VOTED AYE**

# Mr. Quinn presented Resolution #3

#### RESOLUTION

WHEREAS, the recent death of **DONALD E. HARRIS** has brought sorrow to his family, friends, and all who knew him; and

WHEREAS, he is the husband of Debra Harris, Secretary at the Administration Building of Wilkes-Barre Area School District, and;

WHEREAS, his passing on April 11, 2012, will leave an unfillable void in the lives of all who knew and loved him.

THEREFORE, BE IT RESOLVED, that his death be recorded in the minutes of the Board of School Directors and that the Secretary be instructed to express the sympathy of the members of the Board to his wife, Debra; parents, Eugene and Elsie; daughters, Stephanie and Kimberly; and

Brother, Walter; sisters, Sharon, Terry and Donna; and to his entire family.

Wilkes-Barre, PA May 9, 2012

**Ms. Evans moved**, to adopt the resolution.by ACCLAMATION **ALL VOTED AYE** 

### Miss Katsock presented Resolution #4

### **RESOLUTION**

WHEREAS, the recent death of **WILLIAM J. BINIEK** has brought sorrow to his family, friends, and all who knew him; and

WHEREAS, he was an Assistant Principal at Plains Jr. High School and Coughlin High School, Principal at Plains Jr. High School and Director of Curriculum and Deputy Superintendent of Wilkes-Barre Area School District, and;

WHEREAS, his passing on April 30, 2012, will leave an unfillable void in the lives of all who knew and loved him.

THEREFORE, BE IT RESOLVED, that his death be recorded in the minutes of the Board of School Directors and that the Secretary be instructed to express the sympathy of the members of the Board to his wife, Jane; sons, Jeffrey and Matthew; and brothers, Andrew Jr., Joseph, Edward and Thomas; and to his entire family.

Wilkes-Barre, PA May 9, 2012

Miss Katsock moved, to adopt the resolution.by ACCLAMATION

### **ALL VOTED AYE**

### Mr. Elmy presented Resolution #5

#### RESOLUTION

WHEREAS, the recent death of **STANLEY G. SZCZUPSKI** has brought sorrow to his family, friends, and all who knew him; and

WHEREAS, he is the brother of Ann Etter, Wilkes-Barre Area School District Food Service Secretary, and;

WHEREAS, his passing on March 15, 2012, will leave an unfillable void in the lives of all who knew and loved him.

THEREFORE, BE IT RESOLVED, that his death be recorded in the minutes of the Board of School Directors and that the Secretary be instructed to express the sympathy of the members of the Board to his wife, Beverly; and sister Ann; and to his entire family.

Wilkes-Barre, PA May 9, 2012

**Mr. Elmy moved**, to adopt the resolution.by ACCLAMATION **ALL VOTED AYE** 

### **New Business**

Deputy Superintendent, Bernard Prevuznak expressed the following to Dr. Namey.

On behalf of the administrators of our district (Both central office and school based) I would like to personally thank you for your years of service, personal sacrifice, and dedication to the Wilkes-Barre Area School District. Administrators, teachers, and support staff all owe you a world of thanks and appreciation for your inspirational leadership and guidance. But perhaps the stakeholders who benefited the most were our students. During your tenure schools became a safe haven where children could learn, and teachers believed they could make a difference. You should be proud in the fact that during your watch no student ever went hungry because they were denied a lunch, or had to pay for a chance to play on one of our sports team, or the fact that a student couldn't participate in a school activity because they couldn't afford to buy what was needed. When you finally leave your post in August as you indicated, these are the small victories that should be the proudest of. You sir have made all the difference in the lives of thousands of children. Thank you for your countless contributions to them, and to of all of us who call ourselves the Wilkes-Barre Area School District. May God Bless you and keep healthy.

At this time Dr. Namey informed the Board that Coughlin, G.A.R. and Meyers High Schools have all been listed as some of the best high schools in the United States and the best high schools in the state of Pennsylvania by USNews and World Reports.

Mr. Galella moved, seconded by Dr. Corcoran to adopt the following resolution.

Resolut	tion Supporting		
Increased State Fund	ing for K-12 Public Education		
By the Board of Directors			
of the	School District		

**WHEREAS**, Pennsylvania's more than 1.8 million public school students deserve the highest quality education; and maintaining and supporting a 'thorough and efficient system' of public education is a constitutional obligation of the commonwealth; and

WHEREAS, it is the responsibility of the Board of Directors of the provide for the education of its students in a manner that enables them t graduation; and	
<ul> <li>WHEREAS, increases in recent years in state investment in K-12 educal academic performance for students, as evidenced by these facts that she succeeding:</li> <li>Pennsylvania currently ranks 7th among the 50 states for K-12 stational report released in January 2012; and</li> <li>Pennsylvania's 2011 PSSA scores show that 94% of public school Yearly Progress as required under the federal No Child Left Beh</li> </ul>	now that Pennsylvania's public schools are student achievement and 13th overall in a pool districts reached targets for Adequate
<ul> <li>The number of Pennsylvania public high school students taking continues to increase each year, and the numbers of Pennsylva continues to grow each year. In November 2011, Pennsylvania v state with the most public school districts named to its "AP Hono Placement courses from 2009 to 2011, while increasing or main</li> </ul>	nia students scoring a 3+ on AP exams was awarded by The College Board as the or Roll" for expanding participation in Advanced
WHEREAS, evidence of academic achievement in the  by:	School District has been demonstrated

(Insert examples of specific areas of academic achievement in your district. This may include items such as your AYP results, other district tests results, number of Honors, AP or IB courses offered and the number of graduates, results of establishment or expansion of tutoring programs, results of specific academic competitions, awards received. Examples should demonstrate the use/results of district programs to benefit students <u>academically</u>.)

; and

**WHEREAS**, it is critical for Pennsylvania to continue to make smart investments that improve the ability of our students to compete in the high-skills global economy without shifting the burden to the local property taxpayers; and

**WHEREAS**, the 2012-13 state budget maintains basic education funding at 2008-09 levels, maintains level funding for special education for the fourth consecutive year although the costs for providing such mandated services continues to rise, and eliminates the Accountability Block Grant program; and

**WHEREAS**, the 2012-13 proposed state budget for K-12 education does not restore funds eliminated in the 2011-12 budget for charter school reimbursement, school improvement grants; education assistance programs, elementary science programs, and dual enrollment programs; and

WHEREAS, expectations and requirements for students do not diminish in times of economic difficulty, as exemplified by the need for school districts to meet rising targets in 2012 for proficiency on PSSA assessments, implement curriculum aligned with new Common Core standards, increase graduation requirements and administer Keystone Exams; and

WHEREAS, no increases in K-12 education funding actually is a net loss for public education considering increases in costs out of the control of school boards, including pensions, prevailing wage requirements, unreimbursed charter school costs, rising healthcare and energy costs, and more; and WHEREAS, the continued reduction of state funding for basic education further shifts the burden to the local property taxpayers and provide no mandate relief to school districts as a way of controlling costs; and THEREFORE, BE IT RESOLVED, that the \_ School District strongly urges the General Assembly to take legislative action in the 2012-13 state budget to increase funding for K-12 education. Such increases include, at a minimum, additional funding for the basic education and special education subsidies, and restoration of funding for charter school reimbursement and Accountability Block Grants. BE IT FURTHER RESOLVED, that this district also urges the General Assembly to take action on meaningful mandate reform by the time the new 2012-13 state budget is enacted and BE IT FURTHER RESOLVED, that a copy of this resolution be posted on the district's website and submitted to the elected state senators and representatives of the \_\_\_\_\_\_ School District in the General Assembly, and to the Governor of Pennsylvania. Adopted this \_\_\_\_\_\_ day of \_\_\_\_\_\_, 2012. Signed, School Board President **Board Secretary** (seal) Vice President Evans indicated she did not have an opportunity to review the Resolution and was uncomfortable voting on the Resolution. Ms. Evans indicated she would like time to review the Resolution. Mr. Galella withdrew the motion and stated he would present the Resolution at the May 24, 2012

### **Communications from Solicitors**

Special Board Meeting.

Attorney Wendolowski began by acknowledging all the years of dedicated service Dr. Namey has provided to the Wilkes-Barre Area School District. On a personal note, Attorney Wendolowski thanked Dr. Namey for all the support, advice and friendship he has provided to him throughout his years as Assistant Solicitor. Attorney Wendolowski stated that both of his children were educated in the Wilkes-Barre Area School District and received an outstanding education in the District under the leadership of Dr. Namey. Attorney Wendolowski further expressed that he will miss Dr. Namey's presence in the District and wished him good health and happiness upon his retirement. Attorney Wendolowski requested a motion regarding the RELESE; ASSIGNMENT OF CLAIMS; AND SETTLEMENT AGREEMENT (Purvis).

Dr. Corcoran motioned, seconded by Ms. Evans to accept the RELESE; ASSIGNMENT OF CLAIMS; AND SETTLEMENT AGREEMENT (Purvis). Life Insurance Payment/Grievance #01-2008-2009/PSEA Case #11/0511 The vote was as follows:

9 Ayes: Corcoran, Elmy, Evans, Galella, Katsock, Latinski (Proxy), Quinn, Susek (Proxy), Toole

# **Report of the Secretary**

# **Budget Finance Committee Meeting**

Wednesday, May 16, 2012 - 6:00 PM

### **Special Meeting for General Purposes**

Thursday, May 24, 2012 - 6:00 PM

### **June Board Meetings**

Committee Meeting Monday June 11, 2012 – 6:00 PM

Regular Board Meeting Wednesday, June 13, 2012 – 6:00 PM

Ms. Evans moved, seconded by Dr. Corcoran, to adjourn the Meeting.

President Toole adjourned the Meeting at 7:38 PM.